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Question Number : 1 Question Id : 97675520007 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the given words in the sequence in which they occur in the dictionary.

1. Xebecs
2. Xanthic
3. Xennial
4. Xenons
5. Xenias

Options :

1. % 21543
2. % 21354
3. % 21345



4. % 21534

Question Number : 1 Question Id : 97675520007 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Al Xrsal &I WsadI | 3 aTd HH & STHR ford |

1. Xebecs
2. Xanthic
3. Xennial
4. Xenons
5. Xenias

Options :

1. % 21543
2. % 21354
3. % 21345
4. ¥ 21534

Question Number : 2 Question Id : 97675520008 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.

NVG, ITK, DRO, ?, TNW
Options :
1. = XPS
2. % XQU
3. % YPU
4. ¥ YPS

Question Number : 2 Question Id : 97675520008 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



TH 3IhH a1 a1 8, fo s ¥ U Ug @ ¢ | AU 77T fawed! & 3 98 el fddwed 9T, STt Sigshd &1 I |

NVG, ITK, DRO, ?, TNW
Options :
1. % XPS
2. % XQU
3. % YPU
4, ¥ YPS

Question Number : 3 Question Id : 97675520009 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, select the odd word from the given alternatives.
Options :

1. #* Dog

2. * Horse

3. % Cow

4. « Stable

Question Number : 3 Question Id : 97675520009 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefead us o fau T faswedi § 9 favw rsg o1 g
Options :

1. % Pl

2. % grel

3. % 7Y

4, A

Question Number : 4 Question Id : 97675520010 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



In the following question, select the related letters from the given alternatives.

VB:TZ::NZ:?
Options :
1. ¥ LX
2. % LW
3. % MX
4, % MW

Question Number : 4 Question Id : 97675520010 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafoRad oy & fou 7o fowed! & @ Sefda sieri &1 gfu|

VB:TZ::NZ:?
Options :
1. ¥ LX
2. % LW
3. % MX
4. ¥ MW

Question Number : 5 Question Id : 97675520011 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a group of letters is given. The letters of each group are related with the letters of the same group by some
Logic/Rule/Relation. From the given alternatives, select a group of letters which follows the same Logic/Rule/Relation.

(XG, CK, HO)
Options :

1. ¥ (LT, QX, VB)
2. % (QS, VW, AB)
3. ® (AF, FJ, KM)
4. % (DN, HR, MV)



Question Number : 5 Question Id : 97675520011 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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(XG, CK, HO)
Options :

1. ¥ (LT, QX, VB)
2. % (QS, VW, AB)
3. #* (AF, FJ, KM)
4. % (DN, HR, MV)

Question Number : 6 Question Id : 97675520012 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, “You are bad’ is written as ‘@ # O’, ‘I know bad persons’ is written as ‘# $ & *’, *You know me” is written as “* @
~’. What is the code for ‘me are bad’ in that code language?

Options :
1.®#%0
2. % §#A
3.¥ 740
4. % #/0 &

Question Number : 6 Question Id : 97675520012 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T ARy e U H, “You are bad” &I ‘@Q#O %@T\_Sﬂ?ﬂ%, ‘T know bad persons’ DI HS & * %ET\_FHFIT%, “You know me’ T ** @™
mwglﬁmWﬁ‘mearebad’WaﬁgW%?

Options :

1. % #*0

2.% §#N



3.¢9 A0
4. B g1 &

Question Number : 7 Question Id : 97675520013 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A team of four members is to be selected among eight members A, B, C, D, E, F, G and H. C has to be selected with H. B has to be selected with
E. F cannot be selected with A. G cannot be selected with H.

Which of the following members can be selected?
Options :

1. ¥ ABCD

2. % BCEF

3. % ACGH

4. ¥ BEAG

Question Number : 7 Question Id : 97675520013 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ ABCD

2. % BCEF

3. % ACGH

4. ¥ BEAG

Question Number : 8 Question Id : 97675520014 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Seven cars C1, C2, C3, C4, C5, C6 and C7 have different prices. The price of C1 is more than the price of C4 and C5. The price of C3 is less



than the price of C2. The price of only two cars is more than the price of C5. The price of C1 is not the highest. The price of C4 is more than the
price of C2. The price of only one car is less than the price of C7.

Which of the following statement is correct?
I. The price of C1 is more than the price of C6.
II. The price of C7 is more than the price of C3.

Options :

1. * Only I

2.9 Only II

3. % BothIand II
4. % Neither I nor II

Question Number : 8 Question Id : 97675520014 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Had 1

2. ¥ Had Il

3. % [ UGl
4. % GBI

Question Number : 9 Question Id : 97675520015 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
318 AfAd A, B, C, D, E, F, G TUT H T Ufdd T IR BI 3R T TP 96d & (Sl Tl &1 341 HH W 81| D, C P T 3R TR R_IF W
I3ATGI F, G & Gl SR R WM W I&d1 81 E, H P q¥d a1 SR 93T 8| A TUTD & &d | ¢l Afad 98d g | B AUTH & &g A Th




i SodT gl

fFofifed & ¥ o T sy I8 g2

L. D TUT G & & H U afad 9818l
1. E, B % SRfY 3R dRR RIF R 93d1 8|
111, F U 3ifdH BR R 931 3|

Options :

1. % IdUTII

2. % I dYrI
3. % 1dYUTII
4. 1 11 dYTIII

Question Number : 9 Question Id : 97675520015 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Eight persons A, B, C, D, E, F, G and H sit in a row facing towards the north (not necessarily in the same order). D sits third to the right of C. F
sits second to the right of G. E sits to the immediate left of H. Two persons sits between A and D. One person sits between B and H.

Which of the following statements are correct?
I. One person sits between D and G.

I1. E sits third to the left of B.

II1. F sits at an extreme end.

Options :

1. #® Tand II

2. % Il and IIT
3. % Tand III

4. 1,11 and 11T

Question Number : 10 Question Id : 97675520016 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements

to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.



Statements:
I. All J are Z.
II. Some Z are T.

Conclusions:
I. Some J are T.
II. Al T are Z.

Options :

1. # Only conclusion I follows

2. # Only conclusion II follows

3. # Both conclusion I and II follows

4. % Neither conclusion follows

Question Number : 10 Question Id : 97675520016 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Had FpY 1 SFIER0T Rl §
2. % I DY 11 SRV BT &
3. % QI S 1 QT 11 3FIRRUT A &
4. Dz W} FIohY SR T dRlT §

Question Number : 11 Question Id : 97675520017 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:

I. All A are B.

II. Some B are C.
III. No C is D.

Conclusions:

I. Some A are not D.
II. Some B are not D.
III. Some A are C.

Options :

1. # Both conclusion I and III follows
2. % Only conclusion II follows

3. % All conclusion follows

4. # Both conclusion II and III follows

Question Number : 11 Question Id : 97675520017 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % QI FTSBY 1 T I1 SFIR0T % §
2. ¥ Had fHY 11 S0 HdT &

3. % it Fepy SRRUT v §

4. % Q! FSHY 11 T 111 SRR A &

Question Number : 12 Question Id : 97675520018 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A series is given with one term wrong. Select that wrong term from the given alternatives.

16, 48, 24,75, 34, 104, 46, 135,70
Options :

1. % 34

2. % 46

3.970

4, % 48

Question Number : 12 Question Id : 97675520018 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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16, 48, 24, 75, 34, 104, 46, 135, 70
Options :

1. % 34

2. % 46

3.¥70

4. % 48

Question Number : 13 Question Id : 97675520019 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Gy d G
X

If ‘" means ‘+’, ‘=’ means ‘x’, ‘X’ means ‘-’ and ‘+’ means ‘=, then which of the following equation is correct?
Options :

1. % 25x6-30+8+12=151

2. % 50-24+28+4x%x8=30

3.50-30+ 10 -8 x32=42

4. % 50+25-8+20x12=140

Question Number : 13 Question Id : 97675520019 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

afg = BT 3 <+, > BT 3Rk ) x> BT 32 = qUT + BT oef - B, T FfoiRad & 9 &4 a1 wfiavor el 62
Options :

1. % 25x6-30+8+12=51

2. % 50-24+28+4x8=30

3.950-30+ 10 -8 x32=42

4, % 50+25-8+20x12=140

Question Number : 14 Question Id : 97675520020 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the total number of cats?

Elephant

— (at

Options :
1. % 28
2. % 41



3. % 108
4. % 135

Question Number : 14 Question Id : 97675520020 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofeerat &) oo T w82

Options :
1. % 28
2. % 4]
3. % 108
4. % 135

Question Number : 15 Question Id : 97675520021 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Based on the given venn diagram, which of the following statement is correct?

I. The number of classes which are neither boys nor girls is 45.
II. The number of boys which are girls is 33.



Boy

Girl A

Options :

1.¥ Only 1

2. % Only II

3. ® BothIandII
4. % Neither I nor II

Question Number : 15 Question Id : 97675520021 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ Hadl



2. % Had Il
3. % 1 qYT I aHl
4. % BB I

Question Number : 16 Question Id : 97675520022 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The time in a clock is 3:00 am. If the hour hand points towards the west, then towards which direction is the minute hand pointing?
Options :

1. ¥ South

2. % West

3. % East

4. # North

Question Number : 16 Question Id : 97675520022 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP gSt H 3:00 JaTg T 81 X813 | IS °e 1 Y3 UfdH & 3R SIRT BT &, Ot e 1 g8 5 = o1 3R 3uRT R 31 /2
Options :

1. ¢ afgmon

2. % Uigy

3. % g

4. % 3T

Question Number : 17 Question Id : 97675520023 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A girl walks 100 metre towards east. She turns to left and walks 120 metre. She turns to the right and walks 50 metre. She turns to the right and
walks 200 metre. She turns to the left and walks 40 metre. She turns to the left and walks 20 metre. Finally, she turns to the left and walks 110
metre. How far and in which direction is she now from the starting point?

Options :
1. #* 80 metre South-West



2. * 80 metre North-East
3. # 100 metre North-West
4. ' 100 metre South-East

Question Number : 17 Question Id : 97675520023 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T TSB! Id 1 3R 100 Hex Fai 81 98 It 3R gt & T 120 Hiex g 81 98 it 3R gt § T 50 Hex Fert 81 98 arff 3R
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Options :

1. % g0 Hicx aférur-uigw

2. % 80 Hlex IIR-yd

3. % 100 Hiex ITR-UlgH

4. 100 TeR gféoryd

Question Number : 18 Question Id : 97675520024 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the wrong figure from the given series.

A A A
O] |O O] |10 o
[ A
Options :
8]
1. % =
8]
v




o P

3. ¢

o b

Question Number : 18 Question Id : 97675520024 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 19 Question Id : 97675520025 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Two positions of a dice are given below. What will come opposite to face containing ‘2°?

P @
Options :

1.9 1

2.%3

3.% 4

4. % 6

Question Number : 19 Question Id : 97675520025 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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®
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Question Number : 20 Question Id : 97675520026 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
By folding the given paper, which of the following cube can be made?

PP

Options :

1. % L II, Il and IV
2. % I, Il and III
3.9 Tand IV

4, % 11, Il and IV

Question Number : 20 Question Id : 97675520026 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faQ U RS &1 HigA W, Fufafad § 3 o9 91 99 991 o Il 82




PP

Options :

1. % LILUIdUT IV
2. % I AYUTIII
3.9 1dUT IV

4, % I I AUTIV

General Awareness

Group Number : 2

Group Id : 976755672
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No



General Awareness

Section Id : 9767551102
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 9767551279
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 97675520027 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
“ARIRT ATeR HRA o fohe 0 B FARIT STl 87
Options :

1. % 39H

2. ¢ Rfden

3. % feiRe

4. % WIS

Question Number : 21 Question Id : 97675520027 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

“Losoong” festival is celebrated in which state of India?
Options :

1. * Assam

2. % Sikkim

3. # Mizoram



4. ¥ Nagaland

Question Number : 22 Question Id : 97675520028 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a world Heritage site?
Options :

1. % Sun Temple, Konark

2. # Elephanta Caves

3. ¥ Gateway of India

4. ¥ Humayun’s Tomb, Delhi

Question Number : 22 Question Id : 97675520028 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fraferae & 9 o1 ueb fay eRTeR ®d el 87
Options :

1. % g Hfc, PIuch

2. % Qfthel &1 ThIY

3. ¥ T1ed 3Tt sfear

4. % GHIY &1 HeheRT, faeeit

Question Number : 23 Question Id : 97675520029 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is an indirect tax?

I. Corporation tax for firms
II. Excise tax

Options :
1. % Only I
2. % Only II



3. ® BothIand II
4. % Neither [ nor 11

Question Number : 23 Question Id : 97675520029 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFoffEad & ¥ o9 97 3UTe HR 82

1. B & forg A &
1. GHTReh

Options :

1. % Had |

2. ¢ HAd I

3. % [ QYT
4. ® A A

Question Number : 24 Question Id : 97675520030 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is correct regarding GDP deflator?
Options :

1. ¥ Nominal GDP / Real GDP

2. % Real GDP / Nominal GDP

3. ¥ Nominal GDP x Real GDP

4. % Nominal GDP + Real GDP

Question Number : 24 Question Id : 97675520030 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o S i, sraemifae & ded & fafafed & 4 &9 a1 9gl 82
Options :

1. ¢ A S SLd. / arafdes it S,



2. % gr&dfaes Sff. Stdt. / AfAe it S,
3. % A Sl ST, x aRdfae St S,
4. % A St LA, + aRdfdes Sit.SLdl.

Question Number : 25 Question Id : 97675520031 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT an example of Alkali metal?
Options :

1. # Lithium

2. ¥ Magnesium

3. ¥ Sodium

4. ¥ Potassium

Question Number : 25 Question Id : 97675520031 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad o @ ®1F &R u1g BT ISTER0T 181 82
Options :

1. % qifdgy

2. ¢ TIRTH

3. % Oifegy

4, ® OrefRREH

Question Number : 26 Question Id : 97675520032 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

) ; 18
What is the number of neutrons in an element 'y
8

Options :
1. %8



2. % 18
3.410
4. %9

Question Number : 26 Question Id : 97675520032 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
18 w :
a@ X HSH @ He e &

Options :
1. % 8
2. % 18
3.410
4. %9

Question Number : 27 Question Id : 97675520033 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement is correct?

I. By-products of waste water treatment are sludge and biogas.
II. Sewage is a solid waste.

Options :

1. ¥ Only I

2. % Only II

3. % Both Iand Il
4. ® Neither I nor II

Question Number : 27 Question Id : 97675520033 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fufafad § @ &9 91 $y9 I8l 82

1. MUY d IR & TB-3d1E, Uh 3R TN 3|
I1. Ifed Ad U 319 Uiy yerf gar 3|

Options :

1.¥ Hadl

2. % HAd Il

3. % [ QYT ISl

4. % AT I

Question Number : 28 Question Id : 97675520034 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is largest freshwater lake of India?
Options :

1. # Dal

2. % Bhimtal

3. #® Loktak

4. ¥ Wular

Question Number : 28 Question Id : 97675520034 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiad 7 @ o URd & Ia 931 WS Uil ot e 72
Options :

1. % 8d

2. % Yiward

3. % dIdbdld

4. % qciR

Question Number : 29 Question Id : 97675520035 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which of the following is largest state of India in terms of area?
Options :

1. % Uttar Pradesh

2. % Mabharashtra

3. ¥ Rajasthan

4. ¥ West Bengal

Question Number : 29 Question Id : 97675520035 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FafIRed & I &tha & =P F YR HT Ty I81 I HIF A1 62
Options :

1. % WU

2. % HeRIY

3. ¥ ISR

4. % UiEH SIS

Question Number : 30 Question Id : 97675520036 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement is correct?

I. Wheat requires moderate temperature and rainfall during growing season.
II. Jute is also known as the ‘Golden Fibre’.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 30 Question Id : 97675520036 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fafeiRad 7 9 & 91 By I8t 82

1. 71§ & 9t o1 & A9 199 U9 9N St el g1l g
IL. 9T DI GG R & &0 H off S S g |

Options :

1. % PHadl

2. % Had Il

3. 1AUT ISl
4. % 1B

Question Number : 31 Question Id : 97675520037 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Vardhamana Mahavira was tirthankara of the Jainas.

Options :
1. ¥ 24th
2. % 23rd
3. % 22nd
4, % 2lst

Question Number : 31 Question Id : 97675520037 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
g HEER S iR 9
Options :
1. 24d
2. %239
3.% 229
4. %214



Question Number : 32 Question Id : 97675520038 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who composed Buddhacharita?

Options :

1. # Kalidas

2. ¥ Ashvaghosha

3. % Banabhatta

4. # Jayadev

Question Number : 32 Question Id : 97675520038 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
GGANRT DI T [ B1?

Options :

1. % Blole™

2. ¢ Y

3. # dUMHg

4. % g

Question Number : 33 Question Id : 97675520039 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement is correct?

I. Most of the Ashoka’s inscriptions were in Prakrit language.
II. Kalinga is the ancient name of coastal Orissa.

Options :

1. * Only I

2. % Only II

3. % Both I and II
4. # Neither I nor II



Question Number : 33 Question Id : 97675520039 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefed & ¥ o9 91 Hy=T 981 82

I. 3N P WTGIR ST WgHd U H 5|
1. ST deadl IS T R A ]
Options :

1. % Had 1
2. % Had Il
3. [ QYT ISl
4. % GBI

Question Number : 34 Question Id : 97675520040 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In June 2021, the tenure of CEO of NITI Ayog was extended by one year.
Options :

1. ¥ V.K. Saraswat

2. % Amitabh Kant

3. # Rajiv Kumar

4. % VK. Paul

Question Number : 34 Question Id : 97675520040 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2021 H, A @M S WE.3. BT DRIBI b aY Y ST B
Options :

1. % 9t gRIWA

2. ¢ AT Bid

3. % Joild $UR



4. % P, Uid

Question Number : 35 Question Id : 97675520041 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which state, India’s first forest healing centre has been opened?
Options :

1. % Karnataka

2. % Madhya Pradesh

3. % Manipur

4. ¥ Uttrakhand

Question Number : 35 Question Id : 97675520041 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HRd BT U8 91 IUAR g by I | Tl TT g2
Options :

1. % PP

2. % AU

3. % OOQR

4. ¢ 3NAs

Question Number : 36 Question Id : 97675520042 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Priyanka Mohite has become first Indian woman to scale mount Annapurna. She belongs to which state of India?
Options :

1. * Punjab

2. % Uttrakhand

3. ¥ Maharashtra

4, % Uttar Pradesh



Question Number : 36 Question Id : 97675520042 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

et Mfgd Sr@qul udd IR Te- arell Ugd YR AT 8 718 81 98 YR & [y Iod &1 T8 aTall 82
Options :

1. % G99

2. % IS

3. ¥ HERTY

4. % JRYGY

Question Number : 37 Question Id : 97675520043 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which article of Indian constitution is related to the fundamental duties of Indian citizens?
Options :

1. # Article 50-B

2. % Article 50-A

3. % Article 51-A

4. % Article 51-B

Question Number : 37 Question Id : 97675520043 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRATT AT BT I T T8 HRI ARTReD! & Hiferes dacdl ¥ Jafid 32
Options :

1. % 396 50-B

2. % 3G 50-A

3. ¥ TG 51-A

4. % 3Jwa 51-B



Question Number : 38 Question Id : 97675520044 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

By which amendment in the constitution of India, ‘Right to Property’ has been removed from the category of fundamental rights?
Options :

1. ® 42nd

2. ¥ 44th

3. % 40th

4. %= 77th

Question Number : 38 Question Id : 97675520044 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR & Ty H 5 T=ie gRT Iufd F ISR Bl iferes SfHRI @t 9ot § ger i mar g
Options :

1. % 429

2.9 4490

3. % 404

4. % 774

Question Number : 39 Question Id : 97675520045 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which city will host the 2024 Olympic games?
Options :

1. # London

2. ¥ Paris

3. % Munich

4. % Los Angeles

Question Number : 39 Question Id : 97675520045 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

2024 3D TA Bt AT DI IT S BN
Options :

1. % e

2. v URY

3. % A

4. % Qg Calferg

Question Number : 40 Question Id : 97675520046 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who has won the French open 2021 Men'’s singles title?
Options :

1. % Rafale Nadal

2. ¥ Novak Djokovic

3. % Stefanos Tsitsipas

4. # Roger Federer

Question Number : 40 Question Id : 97675520046 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g 31T 2021 T Tehd RadTd fara- i g2
Options :

1. % Jhd TSTd

2. ¢ a1 Siblidd

3. % WHH R{dRu

4. % IR BSR

Arithmetic Ability

Group Number : 3



Group Id :

Group Maximum Duration :
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Show Attended Group? :
Edit Attended Group? :
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Group Marks :

Is this Group for Examiner? :
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Section type :
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Number of Questions :

Number of Questions to be attempted :

Section Marks :

Enable Mark as Answered Mark for Review and Clear Response :

Sub-Section Number :
Sub-Section Id :
Question Shuffling Allowed :

Question Number : 41 Question Id : 97675520047 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If (5 +3V2)* =43 + Q2. then what is the value of Q?

Options :
1. % 15
2. %20
3.9 30
4. % 40

976755673
0

0

No

No

0

20

No

Arithmetic Ability

9767551103
1

Online
Mandatory
20

20

20

Yes

1
9767551280
Yes



Question Number : 41 Question Id : 97675520047 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfE (5 + 3272 =43 + Q\2 Bl dl Q &AM FT 22
Options :

1. % 15

2. %20

3.9 30

4. % 40

Question Number : 42 Question Id : 97675520048 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the value of 13 +23 + ... 1032
Options :
1. ¥ 3025
2. % 2755
3. % 3315
4. % 2305

Question Number : 42 Question Id : 97675520048 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
13423+ ... 10> BIAA R §?
Options :

1. ¥ 3025

2. % 2755

3. # 3315

4. % 2305



Question Number : 43 Question Id : 97675520049 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which is the smallest three digit number which when increased by 6 becomes divisible by both 4 and 6?
Options :

1. % 112

2. % 114

3. % 116

4.9 102

Question Number : 43 Question Id : 97675520049 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A 3 Y oY B TBAT S U g, Sl 6 T T¢1 ST WR 4 YT 6 1§ FIHTST 81 1Tt 82
Options :

1. % 112

2. % 114

3. % 116

4.9 102

Question Number : 44 Question Id : 97675520050 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sum of a natural number and its positive square root is 182. What is the value of the number?
Options :

1. % 144

2.¥ 169

3. % 125

4. % 121

Question Number : 44 Question Id : 97675520050 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP WG AT aUT ISP YIS I BT TNT 182 & | TS BT HIH &1 72
Options :

1. % 144

2. %169

3. % 125

4. % 121

Question Number : 45 Question Id : 97675520051 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the value of positive square root of 54 + 14N5 ?
Options :
3 +25

1. =

Question Number : 45 Question Id : 97675520051 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

54 + 145 F oraaes qJTJ-m CARIE] EPTT%?
Options :

[ % 3+2N5



Question Number : 46 Question Id : 97675520052 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the ratio of marked price and selling price of an article is 3 : 2 respectively, then what is the discount percentage?
Options :

1. % 75 percent

2. % 33.33 percent

3. % 50 percent

4. % 60 percent

Question Number : 46 Question Id : 97675520052 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e U o & 3ifchd Yeg 9T fasha Hed &1 SUTd HHTT: 3 : 2 8, 1 He Uia=d |1 g2
Options :

1. % 75 gfa=rd

2. ¥ 33.33 UfaRrd

3. % 50 Ufard

4. % 60 gfa=rd

Question Number : 47 Question Id : 97675520053 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

If P percent of P is 225, then what is the value of P29
Options :

1. % 22500

2. % 22550

3. % 20500

4. = 20050

Question Number : 47 Question Id : 97675520053 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe P &1 p UfARTd, 225 &, T P2 ST HIF T 57
Options :

1. ¥ 22500

2. % 22550

3. % 20500

4. % 20050

Question Number : 48 Question Id : 97675520054 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If 6/7 of 35 percent of a number is 330, then what is the number?
Options :

1. % 1100

2. % 1150

3. % 1200

4. % 1210

Question Number : 48 Question Id : 97675520054 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



e Teh T/ & 35 U= BT 6/7, 330 ©, <1 TSHT T 82
Options :
1.+ 1100
2. % 1150
3. % 1200
4. % 1210

Question Number : 49 Question Id : 97675520055 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

X 36 UFARId &1 811 TR TH SR 99dT § | 1 Ged B [dshd Hed F ST T gRTT?
Options :

1. % 16:15

2.%20:13

3.25: 16

4. % 5:4

Question Number : 49 Question Id : 97675520055 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Suresh sells a car at the loss of 36 percent. What will be the ratio of cost price to selling price?
Options :

1. % 16:15

2.%20:13

3.¥25: 16

4. % 5:4

Question Number : 50 Question Id : 97675520056 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The angles of a triangle are in the ratio 7 : 6 : 5. What is the largest angle of the triangle?
Options :



1. # 90 degree
2. ¥ 70 degree
3. % 105 degree
4. % 75 degree

Question Number : 50 Question Id : 97675520056 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T AYT F D07 6: 5% IAd H & | Y HT TG T7 B0 R 52
Options :

1. % 90 f&Th

2.+ 70 f&ht

3. % 105 f&uht

4. % 75 f&H

Question Number : 51 Question Id : 97675520057 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rs. 10000 is divided among P, Q and R in the ratio of 7 : 8 : 10 respectively. What is the share of Q?
Options :

1. % Rs. 2400

2. % Rs. 3200

3. ¥ Rs. 2800

4. % Rs. 4000

Question Number : 51 Question Id : 97675520057 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
10000 ST BT P, Q AUTR o &9 HH: 7: 8 : 10 P AT | faHToTd fran mar g1 @ &1 fewar s g2

Options :

1. % 2400 3UY



2. v 3200 390
3. % 2800 3UY
4. % 4000 3T

Question Number : 52 Question Id : 97675520058 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is that yearly rate of simple interest at which a sum of money becomes three times of itself in 40 years?
Options :

1. ¥ 5 percent

2. # 5.60 percent

3. % 6 percent

4. # 7.5 percent

Question Number : 52 Question Id : 97675520058 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR ST &1 8 T = 1§ Fo G R 1s M 40 auf § W9g &1 fi= 71 81 57relt g2
Options :

1. ¢ 5 yfaerd

2. % 5,60 Ufd=Td

3. % 6 fcrRrd

4. % 7.5 gfd=d

Question Number : 53 Question Id : 97675520059 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If Shyam is moving at the speed of 28 km/hr and he can cross a bridge in 6 minutes, then what is the length of the bridge?
Options :

1. % 22 km

2. % 2.8 km



3. ¥ 32km
4, % 2.6 km

Question Number : 53 Question Id : 97675520059 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

afe w28 s it /&eT 3 7Y & 9 IGT 8 qUT 98 U G Bl 6 e T UR &R Gavdl 8, 1 d &1 AaTs o1 82
Options :

1. % 22 fH A

2.« 2.8 fb At

3. % 32 fh

4. % 2.6 fb .

Question Number : 54 Question Id : 97675520060 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A runner starts running from a point at 6:00 am at the speed of 5 km/hr. Second runner starts from the same point at 8:00 am in the same direction
with a speed of 10 km/hr. At what time will the second runner will overtake the first runner?

Options :

1. ¥ 10:00 am
2. % 12:00 pm
3. % 1:00 pm
4. % 11:00 am

Question Number : 54 Question Id : 97675520060 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T UTah U fog ¥ 6:00 TaTg W 5 .1} /der &1 1 ¥ e URY ol § | GORT UTadh 341 farg ¥ 8:00 Yalg IR ¥ fG=m & 10 fop 1t
HeT &1 7T § Gl URY Hdl 8 | fhd T R gERT 4Tae Ugd UTadh ¥ 3T fad S

Options :

1. ¢ 10:00 JTg

2. % 12:00 WM&




3. % 1:00 ARG
4. % 11:00Ydig

Question Number : 55 Question Id : 97675520061 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two taps A and B can fill a tank alone in 6 hours and 9 hours respectively while a third tap C alone can empty the same tank in 18 hours. If all
the three taps are opened together, then in how many hours the tank will be filled?

Options :

1. ¥ 4.5 hours
2. % 5 hours
3. % 3.5 hours
4. % 6 hours

Question Number : 55 Question Id : 97675520061 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

31 T A TUT B T 1 Bl 3(hdl HHTL: 6 TS dUT9 B H R Ibhd g TP TP AT 9 C 3(hdl ST b1 Bl 18 T H WTelt R IHhdl g |
gfe A1 T 1 T 1Y Wi faar ST, df b fham B¢ § HR SIa?

Options :

1. ¥ 4.549c]

2. % 5Yc]

3. % 359

4. % 6YcT

Question Number : 56 Question Id : 97675520062 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Length of the one diagonal of a rhombus is 30 cm. If the area of the thombus is 300 cm?, then what will be length of the other diagonal?
Options :

1. % 18 cm

2. % 25cm



3.% 20 cm
4, % 15¢cm

Question Number : 56 Question Id : 97675520062 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP JEagHS & U 9l &t dars 30 9.1 81 afe gragys &1 aawd 300 112 B, 6 R fawul ot dars @ar gifl
Options :

1. % 1399

2. % 257,

3. ¢ 209

4. % 153

Question Number : 57 Question Id : 97675520063 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement is correct?

I. If side of a cube is 45 cm, then total surface area of this cube is 12150 cm?.

II. Radius of base and height of a cylinder are 7 cm and 12 cm respectively. Total surface area of this cylinder is 682 cm?.

Options :

1. % Only I

2. % Only II

3. % BothIandII
4. ¥ Neither I nor II

Question Number : 57 Question Id : 97675520063 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefed & ¥ o9 91 By 981 82



1. & T U 1 Yol 45 .Y, B, l 38 U b1 He J¥IT &b 12150 A2 6
I1. T S0 & SMYR B A1 aUT SHa18 HaS: 7 9.8, 7U7 12 9.1, 81 59 90 &1 $d g8 &% d 682 T2 B

Options :

1. ¥ FHad |
2. % Had Il
3. % [ UGl
4. % qGIIATRIII

Question Number : 58 Question Id : 97675520064 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The pie chart given below shows the amount spent by a house wife on 8 different articles. The total amount spent on all these 8 articles is Rs.
40000. Amount spent on a particular article is shown as a percentage of total amount spent on all these 8 articles.

Which of the following statement is correct?
I. The total amount spent by a house wife on articles W and R is Rs. 7600.
II. The sum of central angle formed by sector S and T are 105.2 degree.

Options :

1.4 Only I

2. % Only II

3. # BothIand II
4. ® Neither I nor I



Question Number : 58 Question Id : 97675520064 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
- fean o 97 o U el g 8 faft avgefl iR wd 1 T IR @1 gITdT ] 1 39 9t 8 axgeil R T 1 TS Hdt A1 40000 FUI B |
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1. U TfRUll GRT a¥g W TUT R R W B1 718 Hl A 7600 TU B
IL. S YT T GRT ST T Hg1g HIoT &1 AT 105.2 f&Ih B
Options :

1. Had I

2. % Had Il

3. % [ QYT gHl

4. % GBI

Question Number : 59 Question Id : 97675520065 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The line chart given below shows the number mobile sold by 5 different companies.
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What is the difference of number of mobiles sold by C3 and C5?
Options :
1. % 300
2.9 350
3. % 250
4. % 200

Question Number : 59 Question Id : 97675520065 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e fear mar Y ot 5 fafira Sufal gR1 o< U HeRd & e & g2idr 8|
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C3 TUT C5 GRT 93 T HISTSd! ! TS b 3R T 52
Options :
1. % 300
2.+ 350
3. % 250
4. % 200

Question Number : 60 Question Id : 97675520066 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The bar graph given below shows the birth rate and death rate of 6 different states.
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Which of the following statement is correct?
I. The birth rate of state A is 16.66 percent of birth rate of state D.
II. The ratio of birth rate of state E to the death rate of state E are 5 : 3.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. % Neither I nor II

Question Number : 60 Question Id : 97675520066 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
= fear o gus fot 6 faftrsr Iat Y 57 aR 9UT g ok & R |
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Number of Questions : 16

Number of Questions to be attempted : 16
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Enable Mark as Answered Mark for Review and Clear Response : Yes
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Question Number : 61 Question Id : 97675520067 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Restrictions on access to pastures (1)/ have had even (2) greatest impacts on health of livestock (3)/.No error (4)
Options :

1. % 1

2. % 2

3.9 3

4. % 4

Question Number : 61 Question Id : 97675520067 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.



Restrictions on access to pastures (1)/ have had even (2) greatest impacts on health of livestock (3)/.No error (4)
Options :

1. % 1

2. % 2

3.3

4. % 4

Question Number : 62 Question Id : 97675520068 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Corporate messaging that dilutes (1)/ the definition of harassment can (2)/ have unintended side effects (3)/. No error (4)
Options :

1. % 1

2. % 2

3.%3

4. ¥ 4

Question Number : 62 Question Id : 97675520068 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Corporate messaging that dilutes (1)/ the definition of harassment can (2)/ have unintended side effects (3)/. No error (4)
Options :

1. #* 1

2.% 2

3.%3

4. ¥ 4

Question Number : 63 Question Id : 97675520069 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

The soup was as thick as molasses.
Options :

1. # as thickest such

2. # 50 thick as

3. % as thicker much

4. ¥ No improvement

Question Number : 63 Question Id : 97675520069 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

The soup was as thick as molasses.
Options :

1. # as thickest such

2. # 5o thick as

3. % as thicker much

4. ¥ No improvement

Question Number : 64 Question Id : 97675520070 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

Neither does she not her parents like that person.
Options :

1. ¥ nor her parents like



2. # not her parents liked
3. % nor her parent like

4. ¥ No improvement

Question Number : 64 Question Id : 97675520070 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

Neither does she not her parents like that person.

Options :

1. % nor her parents like
2. # not her parents liked
3. * nor her parent like

4. ¥ No improvement

Question Number : 65 Question Id : 97675520071 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

You need to apply this conditioner on hair.
Options :

1. # wary

2. % damp

3. % shrewd

4. # pale

Question Number : 65 Question Id : 97675520071 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.



You need to apply this conditioner on hair.
Options :

1. ®* wary

2. % damp

3. % shrewd

4. # pale

Question Number : 66 Question Id : 97675520072 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

We make the nature of our planet whole and healthy again.
Options :

1. * ought

2. * have

3. * could

4. % can

Question Number : 66 Question Id : 97675520072 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

We make the nature of our planet whole and healthy again.
Options :

1. # ought

2. % have

3. ® could

4, % can

Question Number : 67 Question Id : 97675520073 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in correct order.

The revival of calligraphy

P: artistic reaction against the

Q: in Great Britain at the end of the
R:19th century was part of a broader
S: mechanization of manual crafts

Options :

1. # QRSP
2. ¥ QRPS
3. % SPRQ
4. % PSRQ

Question Number : 67 Question Id : 97675520073 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in correct order.

The revival of calligraphy

P: artistic reaction against the

Q: in Great Britain at the end of the
R:19th century was part of a broader
S: mechanization of manual crafts

Options :

1. # QRSP
2. ¥ QRPS
3. ¥ SPRQ
4. ¥ PSRQ

Question Number : 68 Question Id : 97675520074 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in the correct order.



P: was embedded in the very mosaic

Q: of India since its very inception

R: most observers and traveller accounts

S: suggest that pluralism, diversity, multiformity

Options :

1. # SPRQ
2. % QSPR
3. % SQRP
4. ¥ RSPQ

Question Number : 68 Question Id : 97675520074 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in the correct order.

P: was embedded in the very mosaic

Q: of India since its very inception

R: most observers and traveller accounts

S: suggest that pluralism, diversity, multiformity

Options :

1. # SPRQ
2. % QSPR
3. % SQRP
4. ¥ RSPQ

Question Number : 69 Question Id : 97675520075 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that means the same as the given word.

Cogent
Options :
1. # Feeble



2. ¥ Convincing
3. % Indecisive

4. ¥ Dreamy

Question Number : 69 Question Id : 97675520075 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that means the same as the given word.

Cogent

Options :

1. # Feeble

2. % Convincing
3. # Indecisive

4. % Dreamy

Question Number : 70 Question Id : 97675520076 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that is opposite in meaning to the given word.

Sterling
Options :

1. ¥ Atrocious
2. ® Valid

3. % Legal

4. % Sapid

Question Number : 70 Question Id : 97675520076 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that is opposite in meaning to the given word.



Sterling
Options :

1. ¥ Atrocious
2. # Valid

3. % Legal

4. % Sapid

Question Number : 71 Question Id : 97675520077 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Geometricaly

2. % Geometrricaly

3. ¥ Geometrically

4. % Geomettrically

Question Number : 71 Question Id : 97675520077 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Geometricaly

2. # Geometrricaly

3. ¥ Geometrically

4. # Geomettrically

Question Number : 72 Question Id : 97675520078 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :



1. ¥ Necessary
2. # Necesary
3. % Neseccary

4. ¥ Neccessary

Question Number : 72 Question Id : 97675520078 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. ¥ Necessary

2. # Necesary

3. % Neseccary

4. ¥ Neccessary

Question Number : 73 Question Id : 97675520079 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

All the rage
Options :

1. ¥ Very popular
2. # To instigate

3. % To issue shares

4. # Escaping by a narrow margin

Question Number : 73 Question Id : 97675520079 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

All the rage



Options :

1. ¥ Very popular
2. # To instigate

3. % To issue shares

4. # Escaping by a narrow margin

Question Number : 74 Question Id : 97675520080 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

New York minute

Options :

1. # A very significant person
2. ¥ A very short time

3. % Very insignificant amount

4. % A senseless chatter

Question Number : 74 Question Id : 97675520080 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

New York minute

Options :

1. # A very significant person
2. % A very short time

3. # Very insignificant amount

4. % A senseless chatter

Question Number : 75 Question Id : 97675520081 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Choose the word that can substitute the given sentence.

Leadership chosen on the basis of intellectual criteria
Options :

1. # Democracy

2. ¥ Meritocracy

3. % Plutocracy

4. # Theocracy

Question Number : 75 Question Id : 97675520081 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

Leadership chosen on the basis of intellectual criteria
Options :

1. # Democracy

2. ¥ Meritocracy

3. # Plutocracy

4. % Theocracy

Sub-Section Number : 2
Sub-Section Id : 9767551282
Question Shuffling Allowed : Yes

Question Id : 97675520082 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (76 to 80)
Read the following information carefully and answer the given questions.

The recent death of the last male northern white rhinoceros and the imminent extinction of the vaquita porpoise is a stark reminder we are not
going to win every battle to save endangered species in the wild. We can rescue some from total extinction and have already but only with the
help of zoos and aquariums. Wildlife populations are increasingly under stress from human activities and their impact on the environment.
Population growth, habitat destruction and wildlife poaching whether for sustenance or profit are among the largest threats contributing to their
extinction.



Rhino horn, for example, fetches upwards of US$60,000 per kilogram in countries where it is prized as a cure and status symbol. But this is
bogus. Rhino horn is made of keratin, like our fingernails, and cannot cure disease. We need a planet-wide shift in thinking about how we value
the wildlife resources within the limited intact ecosystems that remain. But many species can’t wait that long.

If we accept that we will lose some battles to save species in the wild, how do we make sure we don’t lose the war on extinction in the long term?
One option is to establish populations in zoos and aquariums. When carefully managed, these populations serve as safety nets against species
extinction. They buy us time until we sort out the human side of the extinction equation.

Captive populations have restocked wild populations and saved many species from extinction. The Puerto Rican toad, California condor,
Scimitar-horned oryx, Amur leopard and the black-footed ferret wouldn’t exist if it weren’t for their captive-bred ancestors. In Canada, captive
breeding helped save the Vancouver Island marmot. Wildlife biologists like myself continue to work with species declared extinct in the wild —
the Kihansi spray toad, Panamanian golden frog, Micronesian kingfisher and Hawaiian crow. But we will have to wait until the threats, such as
habitat loss and invasive species, that led to their extinction in the wild are neutralized before they can be reintroduced.

Sub questions

Question Number : 76 Question Id : 97675520083 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the central idea of the passage?

Options :

1. # To understand if keeping wild animals in a forest is a good idea or not.
2. # To scrutinize the growing extinction of wild animals.

3. ¥ To understand the idea of keeping the wild animals in captivity.

4. % To deduce an idea to curb the extinction of wild animals in a zoo.

Question Number : 77 Question Id : 97675520084 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following question is not answered by the given passage?
Options :

1. # What is the horn of Rhino made of?

2. % What are the reasons for accelerated extinction of wildlife?

3. % How captivity of wild animals helped in saving them from extinction?

4. ¥ What are the benefits of saving wild animals from extinction?

Question Number : 78 Question Id : 97675520085 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT the synonym of the given word ‘bogus’?
Options :

1. # Sham

2. # Pretend

3. ¥ Spurious

4. ¥ Authentic

Question Number : 79 Question Id : 97675520086 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the tone of the given passage?
Options :

1. ¥ Humanistic

2. # Sarcastic

3. # Dogmatic

4. % Bitter

Question Number : 80 Question Id : 97675520087 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As per the given passage, where is the keratin protein present in our body?
Options :

1. # Skin

2. ¥ Fingernails

3. # Ear lobe

4. % Teeth

Question Id : 97675520082 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (76 to 80)
Read the following information carefully and answer the given questions.



The recent death of the last male northern white rhinoceros and the imminent extinction of the vaquita porpoise is a stark reminder we are not
going to win every battle to save endangered species in the wild. We can rescue some from total extinction and have already but only with the
help of zoos and aquariums. Wildlife populations are increasingly under stress from human activities and their impact on the environment.
Population growth, habitat destruction and wildlife poaching whether for sustenance or profit are among the largest threats contributing to their
extinction.

Rhino horn, for example, fetches upwards of US$60,000 per kilogram in countries where it is prized as a cure and status symbol. But this is
bogus. Rhino horn is made of keratin, like our fingernails, and cannot cure disease. We need a planet-wide shift in thinking about how we value
the wildlife resources within the limited intact ecosystems that remain. But many species can’t wait that long.

If we accept that we will lose some battles to save species in the wild, how do we make sure we don’t lose the war on extinction in the long term?
One option is to establish populations in zoos and aquariums. When carefully managed, these populations serve as safety nets against species
extinction. They buy us time until we sort out the human side of the extinction equation.

Captive populations have restocked wild populations and saved many species from extinction. The Puerto Rican toad, California condor,
Scimitar-horned oryx, Amur leopard and the black-footed ferret wouldn’t exist if it weren’t for their captive-bred ancestors. In Canada, captive
breeding helped save the Vancouver Island marmot. Wildlife biologists like myself continue to work with species declared extinct in the wild —
the Kihansi spray toad, Panamanian golden frog, Micronesian kingfisher and Hawaiian crow. But we will have to wait until the threats, such as
habitat loss and invasive species, that led to their extinction in the wild are neutralized before they can be reintroduced.

Sub questions

Question Number : 76 Question Id : 97675520083 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the central idea of the passage?

Options :

1. #* To understand if keeping wild animals in a forest is a good idea or not.
2. % To scrutinize the growing extinction of wild animals.

3. ¥ To understand the idea of keeping the wild animals in captivity.

4. % To deduce an idea to curb the extinction of wild animals in a zoo.

Question Number : 77 Question Id : 97675520084 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following question is not answered by the given passage?
Options :

1. # What is the horn of Rhino made of?

2. % What are the reasons for accelerated extinction of wildlife?

3. # How captivity of wild animals helped in saving them from extinction?



4. ¥ What are the benefits of saving wild animals from extinction?

Question Number : 78 Question Id : 97675520085 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT the synonym of the given word ‘bogus’?
Options :

1. # Sham

2. % Pretend

3. % Spurious

4. ¥ Authentic

Question Number : 79 Question Id : 97675520086 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the tone of the given passage?
Options :

1. ¥ Humanistic

2. % Sarcastic

3. % Dogmatic

4. ¥ Bitter

Question Number : 80 Question Id : 97675520087 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As per the given passage, where is the keratin protein present in our body?
Options :

1. # Skin

2. ¥ Fingernails

3. * Ear lobe

4. # Teeth
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Question Number : 81 Question Id : 97675520088 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafriad 7 9 oH-91 Yo T3 B2

Options :
| ® P
2. ¥ BIY



3. % pIeft
4. % PHIfAd

Question Number : 81 Question Id : 97675520088 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e & 3 oH-9T <eg 41 57
Options :

I % P

2. DIy

3. % oIl

4. % opIfed

Question Number : 82 Question Id : 97675520089 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f&T 71T <req; 1 JHIN J1d HifoTT |

giafeT

Options :

1. % HH dgEY

2. ¢ THIYTG A
3. % RO dgEY

4. % g ATy

Question Number : 82 Question Id : 97675520089 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T 7T 2o &1 IHMN J1d HifT|

gfdfe

Options :




1. ® HH dgEY

2. ¥ T JHTH
3. % P AGEY

4. % g ATy

Question Number : 83 Question Id : 97675520090 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f3T 71U <req T IUXT 1 DI

SOYR
Options :
1. % 3T
2. % 37
3. % 30
4. % g

Question Number : 83 Question Id : 97675520090 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faT 7TQ Trsg 1 Ul F1d B

SO
Options :
1. % 3T
2.9 3J
3. % AW
4. % Yy

Question Number : 84 Question Id : 97675520091 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



3T T a1 & IUYe e &1 T8 B Nad RIH P il B
TG GAR fdaRI &1 gl

Options :

1. % Iceod
2. % HA

3. % A4

4.« U

Question Number : 84 Question Id : 97675520091 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f3T 7T I/ & IUYed eg &1 T B Nad RIH B gfl B

ERIECITEEIE: IR

Options :

1. % Icqdd
2. % {4

3. % 3

4. ¥ U

Question Number : 85 Question Id : 97675520092 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faq TTU e g 1 el Weq IH T DI |

S{ITRTH : SffaRTH
Options :

1. % R : vivH
2.*-/%:13?:%:”@
3.”%?:“{],37

4. % fo13d : FRR



Question Number : 85 Question Id : 97675520092 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T 71U <reg T HT TS WG FH I DI
SR ; 3ffarH

Options :

1. % R : vivH

2.*-/%:13?:%:”@
3.”%?:“{],37

4. % fg13d : FRR

Question Number : 86 Question Id : 97675520093 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fT U T3l H g It BT T HIT
Options :

1. % TRy

2. ¥ TRy

3. % Ty

4. % TRYS

Question Number : 86 Question Id : 97675520093 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fau U Trec) B P g BT T BifvTU
Options :

1. % TRy

2. TRy

3. % Ty



4. % TRYS

Question Number : 87 Question Id : 97675520094 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fufafag g & forw Ifd e &1 T pifo|

S BT AT
Options :

1. % Iq

2. % 3HIfdd
3. % gfora

4. ¢ B

Question Number : 87 Question Id : 97675520094 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FafaRaa areair & forw IR Wee &1 T i |

S HEITAT
Options :

1. % 3fed

2. % Al
3. % gioa

4. ¥ Y

Question Number : 88 Question Id : 97675520095 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
{3 TTU 916 H1 IIHH BT I DI

ST fia M B




Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. 3701 IeTHH BT

2. 01 g oTd

3. Tfewy gaq™ o1a

4. dTcpIfelh daHT BT

Question Number : 88 Question Id : 97675520095 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f&T 71T TR BT GAHM DI J1d Do
e T 7 < 2
Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. 30l I 1

2. J01 g™ HTd

3. Tiew™ gdHE H1a

4. ATHTAD TTHH BT

Question Number : 89 Question Id : 97675520096 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafaRad areal § 9 fiy areg 31d S|

Options :

1. % 9 9dT g8 3 ITeh! T fHret|
2. Sd 1 T8 3 a9 39! T e |



3. % JdT & TgI M W I g e
4. % 1 UBI T 3R I T e

Question Number : 89 Question Id : 97675520096 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad gt o ey areg 1 S|
Options :

1. % J 9dT g8l 31 I g fHar|

2. ¢ SF A1 Ja1 31 dd 3! T e |
3. % A1 & T8I 31 W I G e |

4. % T8l 3 3R I T e

Question Number : 90 Question Id : 97675520097 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fgforiad aredl § @ WRa 919y 1 Sife|
Options :

1. ¢ U & HH B TR 98 A AT HdT|
2. % TG HTH HRAT dI AT Al BTl

3. % Sd TG HTH HA1 dd 98 HaG IATd Bl
4. % TYTH HTH HIAT 3R 3Gy IAfd BT

Question Number : 90 Question Id : 97675520097 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafaRad areal § ¥ W 919 91d S|
Options :

1. ¢ T & HIH B IR I8 3T JAfd BTl
2. % TTH S HAT Al A IAd BT

3. % 9 TG HTH BT 9 dg Hag IAd BTl



4. % M HTH HRd] 3R 3 IAfd HdT|

Question Number : 91 Question Id : 97675520098 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faT T 9Ty 1 9= T DI |
Aiferes 3 Al &l HUS el
Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. Sl

2. 9UqH

3.%H

4. 0]

Question Number : 91 Question Id : 97675520098 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f&T 77T 91y T a1y J1d Hifoid |
T = ThR) ! pUS feu|
Note: For this question, discrepancy i1s found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. &l

2. g9aH

3. %4

4. U]




Question Number : 92 Question Id : 97675520099 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau ¢ a1 & Iuged form fug &1 w4 pifor |
318 T GeraT AH §

Options :
1.¥ |
2.

3 u [

4. % ()

Question Number : 92 Question Id : 97675520099 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau ¢ a1 & Iuged form fug &1 o= pifor |
318 T GeraT daH §

Options :
1.¥ |
2.

3 u [

4. % ()

Question Number : 93 Question Id : 97675520100 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau ¢ a1 © Suged form fug &1 o= pifor |
Jafea g Tt fafsar agea @t

Options :
1. % —




2 %‘5 (T34

3.9 ;

4. % A

Question Number : 93 Question Id : 97675520100 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faU T a1 ¥ Iuged AR forg &1 =994 piforu|
iea g1 a1 fafear aga @t

Options :
1. W

2 %‘5 (T34

3.9 ;

4. % A

Question Number : 94 Question Id : 97675520101 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad ue ), fou U IR fawedl & ¥, 39 fawen &1 997 & S fou U geTark & 31 ol Ya9% U § odad Rl ¢ |
3ih | WA

Options :

1. % IR ol

2. % U1 Y God gl

3. ¢ AR YT T o

4. % HATDBR] BT

Question Number : 94 Question Id : 97675520101 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, fiu U IR fawedl & 9, 39 fadwed o1 9o 3 ot f3T 7T geTer & 31 &1 a9y ¥U ¥ oJad HRal g |




3 T Y=

Options :

1. % JTRGIE ol

2. % U1 Y Gad gl
3. WURY TG H ol
4, % HATDRI HIAT

Question Number : 95 Question Id : 97675520102 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, fiu o IR fawedl & 9, 39 faded o1 oo 3 ot f3T 70 geTer & 31 &1 a9y ¥U ¥ oJad HRal g |
fSreetd I3

Options :

1. % T U gl
2. ¢ SO 8T

3. % Seqdlol Bl
4, % T4 BT

Question Number : 95 Question Id : 97675520102 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad ue ), fou U IR fawedl & ¥, 39 fawen &1 997 & S fou U geTark & 31 ol Ya9% U § odad Rl g |
fSTeeTd &M

Options :

1. % g YIS g1

2. ¢ AT g

3. % SleqdlSi BRI

4. % TG HAT

Sub-Section Number : 2




Sub-Section Id : 9767551284
Question Shuffling Allowed : Yes

Question Id : 97675520103 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (96 to 100)

TS T T T | IR O STYR WR Ui Uy T 7Y € | I &1 e9Yad U aul Ui Uy H aR fawedl § ¥ Tgl faewed |

ATSTHEd ! HRA B UH & Udlies & U T 31 71l § J 39 WEGR<T P A11d BT 8RT HeT 9Tl & | arored R & IR UG T &
AT TRT o 7 fUa B 1 3fag™ & SR 3a1fed aidl 3 59 28R &1 I 1504 H ST 47| dToied 1 (410 1632 o TiId JHIE
QMESTg! A U Uedl GHATS HEd o HhaRT -1 Dt UG H DA U7 | dreidgd 17d] Udlsal B, T JYIC ATgSlgl & gRT S-arl 71, I8
YR PI 9gd 81 Grax UfTRTRIS ¥R g | 39P1 A0 BRI T 1632 o T = FIR 1653 So H GHIG G UT| ATSHG JITe FHICI B
TR SRT H 7! TAANS 78d & qlfg [ TR U | T d ®I 9991 H 28 THR & TRR] BT KA (0631 7T § T dored Bl Hdls
73 HIeX 1 1983 H G 1%Pb! gRI dToTHEd Bl Ueh GRS HIge iiNd fobar 71 o | drerge fay ST A1d 3igyd Salpiadl § 4 e g | I8 HRd
o QA RITTA FHell b U AMHER Hid 6 | TS DI &+ H 22 T T THT T 1| AoHEd &b J Ha o dTex 9gd Yax 3R Sl
axaroT 8, O “geie ararom o gl oira &) 78 BT U 3GHd IaTEV § 3R HRd B 71Rd ¢ | T8 UH 3R ufds Wil o1 iR
W%’m-s'uﬂ‘cﬂuaﬁvﬁiiiﬁ%&nmfmwéﬁgl

Sub questions

Question Number : 96 Question Id : 97675520104 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
GISERREZNEEI T IR v
Options :

1. % 1653 %0

2. ¥ 1632 30

3. % 1983 %o

4. % 1504 30

Question Number : 97 Question Id : 97675520105 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
drored ®I fod A1 3 Hf S Sffelt 82




Options :

1. #® AgqHd hdl
2. % JYIEl Bt TR
3. ¥ RSPl

4.« 191d BT ERI

Question Number : 98 Question Id : 97675520106 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S §9M T fora UBHR & URT BT SXAT [T 77 82
Options :

1. % 22

2. 9% 28

3. %73

4. % 12

Question Number : 99 Question Id : 97675520107 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forgeh GRT AreTHgd &I gRES Arse v fovam mar ur
Options :

1. ¢ JRDI

2. % Ui

3. % HIle gHIc

4. % 3OS

Question Number : 100 Question Id : 97675520108 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST TR BT SUGR it T B

Options :

1. % 3THY BT hg



2. ¥ gDl
3. « UfdgTRI® WR®

4. % HIcl RMUY Dl

Question Id : 97675520103 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (96 to 100)

TS T T T | IR O STYR WR Ui Uy T 7Y € | I T e9Yad U aul Ui Uy H 9R fawedl § ¥ Tal faewed g |

ATSTHEE ! HRA B UH & Uclies & U H 31 Of1dll § J 39 WEGR< P A11d BT &RT HeT o1l & | arored YR & IR UG T &
AT TRT o 7 fUa B 1 3fag™ & SR 3a1fed aidl 3 39 28R &1 I 1504 H ST 47| dToied 1 (40T 1632 o TiId JHIe
QMESIET A (U Uedt GHATS! Hegdl & HhaR[ I ! Ile T HRarT 4T | drogd 17d] Fdisal B, T GYIC Mgolg] & §RT S-ar 741, I8
YR &1 9gd 81 g UAeTRI® RS & | 39 FuT0r 1 T 1632 $o T = g1 1653 ioﬁwgwwlmwmaﬂ
TR SRT H 7! TAANS 78d & qlfg [ TR U | T d ®I 9991 H 28 THR & TRR] BT KA (0631 7T § T dored Bl Hdls
73 HeR B1 1983 H A% GRT ATHET o1 Ueh oRE Wrse Bt o 7am 7| arordea fay o1 1 eigd shafepferd] & W U €1 U8 HRd
ﬁwwwaﬁww@ﬁ@dlwusmﬁdwﬁzzaﬁmmwwW%wm%wa’gﬂ 3R St
&AM &, o gaig axarer o &gl 9i1dl g I8 mwmuamw%aﬁ?wmiﬂw%mwnsﬁwﬁawﬁﬁrmm
Ui &) T8 YR 3R ARt & et &1 F= g

Sub questions

Question Number : 96 Question Id : 97675520104 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
GISERREZNEEI T IR v
Options :

1. % 1653 %0

2. ¥ 1632 30

3. % 1983 %o

4. % 1504 30

Question Number : 97 Question Id : 97675520105 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



droHEd & ford A8 1 ot ST ST 82
Options :

1. % 3[gyd Bell

2. % gHICl ®f TR

3. % gRgHAT

4. ¢ Od BT ERI

Question Number : 98 Question Id : 97675520106 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U T B fhd- TR & URT &1 SXAHT foa 1 82
Options :

1. % 22

2.9 28

3. % 73

4, % 12

Question Number : 99 Question Id : 97675520107 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forgeh GRT ArSTHgd &I gRCS Arse v fovam mar ur
Options :

1. ¢ gAhI

2. % Ui

3. % HIc gHIc

4. % 3l

Question Number : 100 Question Id : 97675520108 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST TRITI T Iuad RN T §ITT?

Options :



1. % JTHY BT hg

2. # qRHAl
3. « UfagTiRI® MRS

4. % HITel RMUY hedl

Disciplinel
Group Number : 6
Group Id : 976755676
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
Disciplinel
Section Id : 9767551106
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 9767551285
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 97675520109 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The industrial revolution first occurred in
Options :

1. * Germany

2. * France

3. % Britain

4. * Spain

Question Number : 101 Question Id : 97675520109 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SMNfes ifd Ted ugal EERIT
Options :

1. % SR

2. % Iy

3. ¢ fgeq

4. % W

Question Number : 102 Question Id : 97675520110 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

On the basis of period, the peasant movements in India can be divided into phases.
Options :

1. % One

2. % Two

3. % Three

4. % Four

Question Number : 102 Question Id : 97675520110 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



3afy & MYR W, HRA H fHa sticral & RN H fguriora fosan s aear g1
Options :

|. % Th

2. % al

3. ¢ dH

4. % IR

Question Number : 103 Question Id : 97675520111 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements is correct regarding Tebhaga Movement?

I. This movement was organised by the Kisan Sabha.
II. It was against Jotedars and moneylenders
II. It was led by Swami Sadanand

Options :

1. % Only I
2. ¥ Tand II
3. % IIand III
4. % Tand III

Question Number : 103 Question Id : 97675520111 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiRad # ¥ &1 1 HU= SHTT stigia & Teu # I8l 82

1. I8 3ficia far GUT gRT raford fobar 7 1|
1. I8 SIIdGRI 3R AEHR! & RIATE |

111. SHHT Acd WTH! GaMHe  fobar 7|
Options :

1. % a1

2. 1dYTII

3. % I dUT I




4, % 1dYT I

Question Number : 104 Question Id : 97675520112 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who was the last ruler before the onset of the French Revolution?
Options :

1. # Louis XV

2. ¥ Louis XVI

3. #* Louis XVII

4. % Louis XIV

Question Number : 104 Question Id : 97675520112 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

THIRT hifd ) Y3 Ued 3ifay A DI UT
Options :

1. % g XV

2. ¢ T3 XVI

3. % g8 XVII

4. % g XIV

Question Number : 105 Question Id : 97675520113 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Where was Louis XVI kept as a virtual prisoner?
Options :

1. ¥ Tuileries Palace

2. # Palace of Versailles

3. % Luxembourg Palace

4. ® Chateau of Chantilly



Question Number : 105 Question Id : 97675520113 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T3 XVI P SMTURR et & =0 T BT 34T 77 Y12
Options :

1. ¢ qEaRiSl Uay

2. % UoY 3T quffery

3. % SorHe Ul

4. % Jfech &1 Hed

Question Number : 106 Question Id : 97675520114 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In which year, did Louis XVI flee to Paris?
Options :

1. ¥ 1791

2. % 1792

3. % 1793

4. % 1794

Question Number : 106 Question Id : 97675520114 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

for TTa 1, g8 X VI 3 ORY & fore gargH faan um
Options :

1. ¥ 1791

2. % 1792

3. % 1793

4. % 1794



Question Number : 107 Question Id : 97675520115 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

During the French revolution, when did Napoleon ascend to power?
Options :

1. % 1798

2. % 1797

3.9 1799

4. % 1800

Question Number : 107 Question Id : 97675520115 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR hifd & SR AU Sd Il H ST A
Options :

1. % 1798

2. % 1797

3.9 1799

4. % 1800

Question Number : 108 Question Id : 97675520116 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FAfRd & ST — 1o &7 BT T BT B AT JH 5! 62

I g8 XVI- 1774
IL g8 XV — 1778
1L 8 XIV — 1779
Options :

1. ¢ Had |
2. % HAAII
3. % Had Il




4, % 1dYT1I

Question Number : 108 Question Id : 97675520116 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pairs of ‘Rulers — Year of becoming king’ is correct?

I. Louis XVI - 1774
II. Louis XV — 1778
II1. Louis XIV - 1779

Options :

1. ¥ Only I
2. % Only II
3. % Only III
4. % Jand I

Question Number : 109 Question Id : 97675520117 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

On 29th March, 1857 opened fire on his European officers.
Options :

1. ¥ Mangal Pandey

2. ® Tantia Tope

3. % Nana Saheb

4. ¥ Wajid Ali Shah

Question Number : 109 Question Id : 97675520117 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

29 A, 1857 I J 30 RIUTT HfAHTIRAT TR TMeaR (& HR ol
Options :

1. v A Ui

2. % difqar e



3. ® {9 dled
4. % qIfoTg 31cll X8

Question Number : 110 Question Id : 97675520118 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The policy of annexation extensively applied if the kingdom doesn’t have a natural heir and if the British disapproved of the adopted heir. From
the given options, select the policy discussed here.

Options :

1. ¥ Doctrine of Lapse
2. # Subsidiary Alliance
3. % Paramountcy Policy

4. ® Commercial Policy

Question Number : 110 Question Id : 97675520118 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR Bt fifd 73 THM R AFLEI 8, TS ST HT UIHfad ISTRISHRT Ta1 § 3R fofex aae IaIfIeR & WaR T8l Hd | flqu
faemedl o 9 a8 fifd g3 ot T8 R 7= &t T 82

Options :

1. ¢ SiacH 3T o

2. % gfeufeat Tardy

3. % IRMTSC Tiferdt

4. ® HARTS qfert

Question Number : 111 Question Id : 97675520119 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who was not able to join the founding session of the Indian National Congress?
Options :

1. % Pherozeshah Mehta

2. % A.0. Hume



3. ¥ Surendra Nath Banerjee
4. % M.G. Ranade

Question Number : 111 Question Id : 97675520119 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR AP BT & HRITD T H DI A 7o 51 U A2
Options :

1. % fOhRISTRITE Had

2. % T3l ggH

3. ¢ GG Y S

4. % TS IS

Question Number : 112 Question Id : 97675520120 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who among the following formed the Indian Association in 18767

I. Surendra Nath Banerjee
II. Anand Mohan Bose

Options :

1. % Only I

2. % Only II

3. % BothIand II
4. #® Neither I nor II

Question Number : 112 Question Id : 97675520120 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafaRed | ¥ fooue 1876 H $fsa TaifusE &1 64 fdhar Ut



. L& 1Y ol
I1. 371 HigH a9
Options :

1. % Had I

2. % Had I

3. ¢ 1 qUTIL A
4. % qEIIATR I

Question Number : 113 Question Id : 97675520121 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Swadeshi Movement started as a reaction to the
Options :

1. # khilafat movement

2. # formation of Muslim League

3. % partition of Bengal

4. # Non-cooperation movement

Question Number : 113 Question Id : 97675520121 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Wl srigad ! Ufdfehar & ©U § YRE go|
Options :

1. % f@amd 3figie

2. # TR &N o T8

3. ¢ ST o faHTSH

4. % 3{YGYNT 3ficia-

Question Number : 114 Question Id : 97675520122 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



T TSl THT & ST el J 1 Th I A2
Options :

1. ® fe=irufee

2. ¢ THS. IATS

3. % TIETHTS RIS

4. % SGIEY A1 A8

Question Number : 114 Question Id : 97675520122 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who was one of the founding members of Poona Sarvajanik Sabha?
Options :

1. # Dinshaw Petit

2. ¥ M.G. Ranade

3. ¥ Dadabhai Naoroji

4. # Jawaharlal Nehru

Question Number : 115 Question Id : 97675520123 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year, was the Indian National Congress formed?
Options :

1. ¥ 1885

2. % 1886

3. % 1887

4, % 1888

Question Number : 115 Question Id : 97675520123 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ford oy , HRY ST BT BT TS G U1

Options :



1. ¥ 1885
2. % 1886
3. % 1887
4. % 1888

Question Number : 116 Question Id : 97675520124 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year did the Russian revolution started?
Options :

1. # 1913

2. % 1915

3.¥ 1917

4. % 1919

Question Number : 116 Question Id : 97675520124 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
=41 ifd fbg 9 # = g8 o
Options :

1. % 1913

2. % 1915

3.¥ 1917

4. % 1919

Question Number : 117 Question Id : 97675520125 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the Soviet Union, landlordism was abolished in
Options :

1. % 1915



2. % 1916
3. ¥ 1917
4. % 1918

Question Number : 117 Question Id : 97675520125 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ifagd dg # sl BRI ERRARIuIRIT
Options :

1. % 1915

2. % 1916

3.9 1917

4. % 1918

Question Number : 118 Question Id : 97675520126 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Before the Russian revolution, the Russian working class was largely concentrated in
Options :

1. % Coal industries

2. ¥ Textile industries

3. # Construction industries

4. ¥ Mining industries

Question Number : 118 Question Id : 97675520126 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T ifd T U8, T Holgr a1 HIb! gg ab EEIEGRIT
Options :

1. % DA IR

2. ¢ HUST AN



3. % famfor I
4. % FA 3G

Question Number : 119 Question Id : 97675520127 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Duma was constituted during the period of which Emperor of Russia?
Options :

1. #* Nicholas I

2. % Nicholas II

3. * Nicholas III

4. % Nicholas IV

Question Number : 119 Question Id : 97675520127 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SIHT &1 T34 T o [ THIE & HIal T gaHT U1
Options :

1. % Ay 1

2. ¢ AP 11

3. % (pIad 11

4. % FHIag v

Question Number : 120 Question Id : 97675520128 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements is correct regarding the ‘Decembrist Uprising 1825°?

I. Participants were peasants and workers of the society.
II. Participants were young men who has served as officers in the Tsar’s army.

Options :
1. * Only I



2. % Only II
3. % Bothland II
4. % Neither I nor 11

Question Number : 120 Question Id : 97675520128 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fegnfsRe fagis 1825 & e # Fufafad 5 3 o 91 HyT 98 82

1. gfayrft foram SR 0 & il U1
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Options :

1. % Had |

2. ¢ HAd I

3. % [ QYT
4. % qEIIATRIII
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Group Maximum Duration : 0
Group Minimum Duration : 0
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Number of Questions to be attempted : 20
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Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 97675520129 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Karl Marx was a thinker.

I. Mercantilist
II. Socialist

Options :

1. % OnlyI

2. % Only II

3. % BothIand II
4. % Neither I nor II

Question Number : 121 Question Id : 97675520129 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P AT Th foarR® U

I. AT
1. gETodTe!
Options :

1. % BHad |



2. ¥ Had Il
3. % 1 qYT I aHl
4. % qIEITAIB I

Question Number : 122 Question Id : 97675520130 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ideas of scientific socialism are also known as
Options :

1. # Fascism

2. #% Anarcho-primitivism

3. % Marxism

4. % Capitalism

Question Number : 122 Question Id : 97675520130 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

JqTfe FHTSTaTG & faaR} & & F Y H ST ST g
Options :

1. % IRRCAIg

2. % T I-UTgfHfefasH

3. ¢ HIRAIG

4. % Goltdig

Question Number : 123 Question Id : 97675520131 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement is correct?

I. The Utopian Socialists were scientific in their outlook.
II. The Utopian Socialists were concerned about social justice.

Options :



1. % Only I

2. % Only II

3. % BothIandII
4. ¥ Neither I nor II

Question Number : 123 Question Id : 97675520131 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafifad & @ & 91 YT 98 22

1. gRIfg gHToIare] 3 ef¥eiur § aee 3|
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Options :

1. % Had |

2. ¢ HAd I

3. % [ QYT
4. % qEIIATRIII

Question Number : 124 Question Id : 97675520132 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In context of Marxism philosophy, which of the following is correct?

I. There cannot be a peaceful transformation from capitalism to socialism.
II. The working class will seize state power by revolution.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 124 Question Id : 97675520132 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % PHadl

2. % Had Il

3. 1AUT ISl
4. % 1B

Question Number : 125 Question Id : 97675520133 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fascism emerged in which country?
Options :

1. * France

2. % Spain

3. # Greece

4. ¥ Ttaly

Question Number : 125 Question Id : 97675520133 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
mrlaTe fg G2 H IHRT UT?

Options :

1. % Y

2. % W

3. % g

4. 3l



Question Number : 126 Question Id : 97675520134 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The World War I was started in which year?
Options :

1. * 1912

2. % 1913

3.4 1914

4. % 1915

Question Number : 126 Question Id : 97675520134 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TyH 9y gg T au § Ry g3 um
Options :

1. % 1912

2. % 1913

3.¥ 1914

4. % 1915

Question Number : 127 Question Id : 97675520135 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year, the United States of America entered in World War 11?
Options :

1. * 1940

2. ¥ 1941

3. % 1942

4. % 1943

Question Number : 127 Question Id : 97675520135 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fobr oy o, e Isa SRt A fgdta fay gg & vawr fwam
Options :

1. % 1940

2.9 1941

3. % 1942

4. % 1943

Question Number : 128 Question Id : 97675520136 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Name the dictated treaty imposed on Germany after the First World War.
Options :

1. ¥ Treaty of Versailles

2. % The treaty of Trianon

3. # The treaty of Neuilly

4. % The treaty of St. Germain

Question Number : 128 Question Id : 97675520136 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YA 3y g & 918 STH-T IR TS T8 (i it &1 =1 sl
Options :

1. ¢ 9 S Y

2. % T & 4

3. ® ot &l iy

4. % Ye o o1 °fy

Question Number : 129 Question Id : 97675520137 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
During the inter-war years, Japan left the League of nations. Which of the following is a correct reason for it?



Options :

1. ¥ Non-recognition of Manchukuo regime
2. % Military dispute

3. ¥ War debt

4. % Failure of disarmament

Question Number : 129 Question Id : 97675520137 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

STR-g& P Iu P GRI, SITUM = P & TG BT Bt fedn| Fufiied & S 91 $9P1 U gl PRI 672
Options :

1. ¢ g3 UM &1 IR SHH

2. % T faarg

3. % g BU

4. % AR P famaal

Question Number : 130 Question Id : 97675520138 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofafed & & oF S+ gRT 9y g5 11 9 ugd fosar mam am
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Options :

1. ¢ $Had |

2. % Had I

3. % [ QYT
4. % qEIIATR I

Question Number : 130 Question Id : 97675520138 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Which of the following was done by Germany before World War 11?7

I. It annexed Austria in 1938.
II. It dismembered Czechoslovakia in 1935.

Options :

1. ¥ Only I

2. % Only II

3. % BothIandII
4. ¥ Neither I nor II

Question Number : 131 Question Id : 97675520139 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In 1796, Nebular Hypothesis about the origin of the earth was given by .
Options :

1. # R.S. Morgan

2. ¥ Laplace

3. # T.C. Chamberlin

4. % Jean Brunhes

Question Number : 131 Question Id : 97675520139 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1796 H, 32l B ST S IR A IR WRpeqT RIS TS |
Options :

1. % 3R.TH. A

2. ¢ A

3. % . IrRfeH

4. % S g0

Question Number : 132 Question Id : 97675520140 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following rocks are formed due to the metamorphism of sandstones?
Options :

1. ¥ Quartzites

2. # Gneiss

3. % Marble

4. % Slates

Question Number : 132 Question Id : 97675520140 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafifad 7 3 fea TgM &1 Rafor sgs TRl & BrafaR & BRI g3 82
Options :

1. ¥ BICHSC

2. % 3

3. % JIIRW

4. % WIS

Question Number : 133 Question Id : 97675520141 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The ‘Sima’ layer of the earth is composed of
Options :

1. # Silica and Manganese

2. # Selenium and Aluminium

3. ¥ Silica and Magnesium

4. % Selenium and Iron

Question Number : 133 Question Id : 97675520141 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



gt @t Ryar W R
Options :

1. % fyfreT iR AT

2. % YA 3R Tegfhfrod

3. ¢ TfereT iR Aefiftw

4. % JYAHTH 3R MRA

Question Number : 134 Question Id : 97675520142 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the revolution period of the Mars?
Options :

1. # 365 days

2. ¥ 687 days

3. % 4333 days

4. % 88 days

Question Number : 134 Question Id : 97675520142 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T T URSHHT BTl T 52

Options :

1. % 365 fad

2. ¢ 687 &A1

3. % 4333184

4. % ggfed

Question Number : 135 Question Id : 97675520143 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements is correct regarding secondary seismic waves (S waves)?



I. They are also called longitudinal waves.
II. These waves cannot pass through liquid materials.
II1. Their speed is lower than surface waves.

Options :

1. #* Tand II

2. % Il and III
3. % [, I and ITI
4. % Only II

Question Number : 135 Question Id : 97675520143 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 1dYT 1

2. ® 11 dUT I
3. % I, I dUTIII

4. HAA I

Question Number : 136 Question Id : 97675520144 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rainfall occurs in which layer of the earth’s atmosphere?
Options :

1. ¥ Troposphere

2. # Stratosphere

3. % Mesosphere

4. # Thermosphere



Question Number : 136 Question Id : 97675520144 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ayf gt & argHUS T B g W # Bl 22
Options :

1. ¢ &iyHsd

2. % gHAGHSA

3. # AYHSA

4. % 9T AIgHSA

Question Number : 137 Question Id : 97675520145 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The transfer of heat through the molecules of matter in any body is called
Options :

1. % Radiation

2. % Conduction

3. ® Convection

4. % Advection

Question Number : 137 Question Id : 97675520145 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fopaft oft fifs & uerd & e & Ao A S HTRIFRY  Hedad gl
Options :

1. # fafor

2. ¥ I

3. % Hagd

4. % 3Hf¥aga



Question Number : 138 Question Id : 97675520146 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which wind is known as snow eater?
Options :

1. # Loo

2. % Tramontane

3. % Chinook

4. % Sirocco

Question Number : 138 Question Id : 97675520146 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % q

2. % CHUCH

3. ¢ for e

4. % RRIBI

Question Number : 139 Question Id : 97675520147 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Prairies grassland is found in

Options :

1. # Australia

2. ® Africa

3. % North America

4. % South America

Question Number : 139 Question Id : 97675520147 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
TR o AGH AU g |
Options :

1. % 3fiecfer

2. % 3MBIDI

3. ¢ IR SARBT

4. % feror 3R

Question Number : 140 Question Id : 97675520148 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following local winds is prevalent in north and south polar regions?
Options :

1. % Zonda

2. ¥ Blizzard

3. # Foehn

4. % Yamo

Question Number : 140 Question Id : 97675520148 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR 3R 2o ydi &t & Fafafead § ¥ 19 I wir ue v 82
Options :

1. % Gie

2. ¥ B TBH

3. % Tlgd

4. % gAY
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Question Shuffling Allowed :

Question Number : 141 Question Id : 97675520149 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following gase is NOT involved in the production of acid rains?

Options :

1. * Sulphur dioxide
2. * Nitrogen dioxide
3. * Nitrous oxide

4. ¥ Hydrogen bromide
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Question Number : 141 Question Id : 97675520149 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFofafed & 9 &9 & 19 orwella aui & Iade & =i gl 2
Options :

1. % PR SIRSHIRISS

2. % ﬂlﬁg\IUH SEEICSIES

3. % A3CY HFZS

4. ¢ GIZSISH SIASS

Question Number : 142 Question Id : 97675520150 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pairs of ‘Ocean currents — Ocean’ is correct?

I. Gulf stream — Atlantic Ocean
II. Labrador current — Pacific Ocean
III. Peru current — Indian Ocean

Options :

1. ¥ Only I

2. % Il and III
3. % Tand III

4. % 1 1 and III

Question Number : 142 Question Id : 97675520150 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ $ad [

2. % IIdYrIn
3. % [dYUTII
4, % I, I dYT I

Question Number : 143 Question Id : 97675520151 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements is correct regarding the methods of Environmental Impact Assessment (EIA)?

I. Ad hoc method is used in the situation where time is a constraint or there is a lack of information.
II. The matrix technique is a qualitative environmental impact assessment method.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 143 Question Id : 97675520151 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Hadl
2. % HAd Il
3. QYT I gl
4. % qEIIATE I




Question Number : 144 Question Id : 97675520152 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following are the oldest folded mountain in India?
Options :

1. # Satpura Range

2. % Vindhya Range

3. ¥ Aravalli Range

4. % Himalayan Range

Question Number : 144 Question Id : 97675520152 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fraforRed # § &9 91 YR & a8 R aferd udd /2
Options :

1. % gaysI el

2. % fger sl

3. ¢ 3RITC! IS

4. % BT

Question Number : 145 Question Id : 97675520153 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following rivers of India drains into the Bay of Bengal?
Options :

1. % Sabaramati

2. ¥ Godavari

3. ® Tapi

4. % Narmada

Question Number : 145 Question Id : 97675520153 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % HTeRH!

2. ¢ TEIaRt

3. % drdf

4. % STHa

Question Number : 146 Question Id : 97675520154 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The season of retreating monsoon in India starts from the month of
Options :

1. ¥ October

2. % November

3. % September

4. % August

Question Number : 146 Question Id : 97675520154 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRAAAMEA S NS geAdT AT - A gE el
Options :

1. & SfdgaiR

2. % AR

3. % RydeR”

4, % A

Question Number : 147 Question Id : 97675520155 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following woods is NOT found in the Himalayan forests of India?
Options :

1. ¥ Blue-pine

2. ® White willow

3. ¥ Ebony

4. # Silver-fir

Question Number : 147 Question Id : 97675520155 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiad 7 @ o W des! URa & ferrerdt Svrat & 8t urs St 82
Options :

1. #® gurg-

2. % Jofa faen

3. ¢ Hld[H

4. % e mr

Question Number : 148 Question Id : 97675520156 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Greater Himalaya and the Lesser Himalaya are separated by the
Options :

1. # Main Boundary Thrust

2. # Himalayan Front Fault

3. # Indus Suture

4. ¥ Main Central Thrust

Question Number : 148 Question Id : 97675520156 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :



1. % T T URC

2. % fZHIT the Wiee
3. % fyy

4. - S U

Question Number : 149 Question Id : 97675520157 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following combination of rivers is correctly sequenced according to the descending order of their area in India?
Options :

1. # Indus-Ganga-Kaveri

2. ¥ Ganga-Indus-Mahanadi

3. % Brahmaputra-Narmada- Ganga

4. % Godavari-Indus-Narmada

Question Number : 149 Question Id : 97675520157 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % RiyTm-pat

2. ¢ T-RiY-Hgrdl
3. % SEIYA-THEL-TA
4. % TMerad-RieAer

Question Number : 150 Question Id : 97675520158 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In 1980, which country adopted the ‘One-child policy’ to regulate its population?
Options :

1. # Japan



2. % India
3. % China

4. % Russia

Question Number : 150 Question Id : 97675520158 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % JfUlq

2. % gfean

3.9 A

4, % Y

Question Number : 151 Question Id : 97675520159 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The location of an industry is largely dependent on which of the following factors?

I. Raw material
II. Climate

Options :

1. ® Only I

2. % Only I

3. % Both I and II
4. % Neither I nor II

Question Number : 151 Question Id : 97675520159 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 152 Question Id : 97675520160 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following have been identified as the problems of Iron and Steel industry in India?

I. It requires huge amount of capital.
II. The high cost of coking coal.
III. Growing competition in the International market.

Options :

1. ® Tand II

2. % Il and III
3. % TandIII

4. % 1, 1I and III

Question Number : 152 Question Id : 97675520160 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 153 Question Id : 97675520161 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 153 Question Id : 97675520161 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rabi crops are sown from

Options :

1. # September to October

2. #% December to February

3. % October to December

4. ¥ April to November

Question Number : 154 Question Id : 97675520162 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which state of India is the largest producer of rice?
Options :

1. ¥ West Bengal

2. % Bihar

3. ¥ Haryana



4. % (Qdisha

Question Number : 154 Question Id : 97675520162 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 155 Question Id : 97675520163 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following characteristics of simple subsistence agriculture are correct?

I. The cultivated patches are usually very small.
II. It is also known as shifting cultivation.
ITI. A number of different crops are simultaneously grown in the same plot.

Options :

1. #® Tand II

2. % Il and IIT
3. % Tand III

4. 1,11 and 11T

Question Number : 155 Question Id : 97675520163 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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1. % [qUTI

2. % [ AU

3. % (YT
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Question Number : 156 Question Id : 97675520164 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which country has the second largest road network in the world?
Options :

1. % Russia

2. ¥ India

3. # China

4. % Australia

Question Number : 156 Question Id : 97675520164 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 157 Question Id : 97675520165 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which is the only riverine major seaport of India?
Options :

1. % Kochi port

2. ¥ Kolkata port

3. ¥ Mumbeai port

4. ¥ Paradwip

Question Number : 157 Question Id : 97675520165 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 158 Question Id : 97675520166 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The height of water of tsunami waves above mean sea level in the near shore zone is called
Options :

1. #* Inundation distance

2. % Tsunami run-up

3. % Flow depth

4. # Tsunami height

Question Number : 158 Question Id : 97675520166 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 159 Question Id : 97675520167 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is a biological disaster?
Options :

1. ¥ Eutrophication

2. % Cold waves

3. # Soil erosion

4. # Nuclear explosion

Question Number : 159 Question Id : 97675520167 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 160 Question Id : 97675520168 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pair of disasters is correctly matched?

I. Slow on-set disaster — Sea level rise
II. Rapid on-set disaster — Lava flow



Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 160 Question Id : 97675520168 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 161 Question Id : 97675520169 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following precautionary measures should be taken to avoid and mitigate disastrous effects of seismic events?

I. Curbing deforestation and massive quarrying.
II. Restricting urban growth in the hilly areas.
III. High rise building construction in rural areas.

Options :

1. ¥ Tand II

2. % Il and III
3. % Only I

4. % [, 1l and III

Question Number : 161 Question Id : 97675520169 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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1. 1aUTII

2. % YT

3. % Had I
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Question Number : 162 Question Id : 97675520170 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is a type of Public Distribution System (PDS)?

I. Universal Public Distribution System
II. Targeted Public Distribution System

Options :

1. % Only I

2. % Only II

3. % Both I and I
4. ® Neither I nor II

Question Number : 162 Question Id : 97675520170 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 163 Question Id : 97675520171 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The gross enrolment ratio (GER) is associated with which sector?
Options :

1. ¥ Education

2. % Agriculture

3. % Industry

4. # Transport

Question Number : 163 Question Id : 97675520171 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ e

2. % By

3. % I

4. % Ufagq

Question Number : 164 Question Id : 97675520172 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
duty is based on the value of the commodity imported or exported.
Options :
1. # Compound
2. ¥ Ad-Valorem
3. % Specific
4. % Transit



Question Number : 164 Question Id : 97675520172 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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3. % fafry

4. % URIMA

Question Number : 165 Question Id : 97675520173 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements is correct regarding the ‘Neo Classical Views of Economic Development’?

I. It considers economic development as the removal of poverty and inequality.
II. It believes that growth occurs as a result of the long-term effects of capital formation.

Options :

1. * Only I

2.9 Only II

3. % BothIand II
4. % Neither I nor II

Question Number : 165 Question Id : 97675520173 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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2. ¥ Had Il
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4. % qIEITAIB I

Question Number : 166 Question Id : 97675520174 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The activities of the producers in this sector are closely connected with natural resources. This sector is

I. Primary sector
II. Tertiary sector

Options :

1. ¥ Only I

2. % Only II

3. % BothIandII
4. # Neither I nor II

Question Number : 166 Question Id : 97675520174 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.« Had 1
2. % HAdII
3. % [ UGl
4. % qEIIATR I

Question Number : 167 Question Id : 97675520175 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

The ratio of liquid assets to demand and time liabilities in India is known as the
Options :

1. # Solvency Ratio

2. % Statutory Liquidity Ratio

3. ¥ Marginal Standard Facility

4. % Minimum Support Price

Question Number : 167 Question Id : 97675520175 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 168 Question Id : 97675520176 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the issuing authority of coins in India?
Options :

1. ¥ Government of India

2. ® Reserve Bank of India

3. # Commercial banks of India

4. ®¥ Corporate entities

Question Number : 168 Question Id : 97675520176 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 169 Question Id : 97675520177 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a nationalised bank in India?
Options :

1. % Kotak Mahindra bank

2. ¥ Bank of Baroda

3. % Bandhan bank

4. % Axis bank

Question Number : 169 Question Id : 97675520177 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 170 Question Id : 97675520178 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
There are four alternative measures of money supply. Which among the following is correct?
Options :



1. ¥ MI = currency held by the public + demand deposits of the public

2. ¥ M4 = currency held by the public + total post office deposits

3. % M2 = demand deposits of the public + savings deposits with post office

4. % M3 = time deposits of banks held by the public + savings deposits with post office

Question Number : 170 Question Id : 97675520178 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 171 Question Id : 97675520179 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is correct regarding Indian Feudalism according to K.C. Wheare?
Options :

1. # a centralized government with subsidiary unitary principle

2. # a federal state with subsidiary unitary principle

3. # a centralized government with no federal principle

4. ¥ a unitary state with subsidiary federal principle

Question Number : 171 Question Id : 97675520179 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 172 Question Id : 97675520180 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Indian Federalism has features.
Options :

1. ¥ authoritarian

2. # majoritarian

3. # totalitarian

4. ¥ unitarian

Question Number : 172 Question Id : 97675520180 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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2. % ggITID

3. % Uhady

4. ¥ THERTE

Question Number : 173 Question Id : 97675520181 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following party systems is followed in India?
Options :

1. ® Single-party system

2. ¥ Multi-party system



3. # Two-party system
4. ® Three-party system

Question Number : 173 Question Id : 97675520181 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 174 Question Id : 97675520182 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which national party of India has ‘Elephant’ as its symbol?
Options :

1. # Communist Party of India

2. ® Bhartiya Janta Party

3. # Indian National Congress

4. ¥ Bahujan Samaj Party

Question Number : 174 Question Id : 97675520182 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YRA BT B T T ardf 7 g gt 22
Options :

1. % YR SR el

2. % YR Sfar uréf

3. % YR IS HiUd



4. ¥ SgoI JHTS Ure

Question Number : 175 Question Id : 97675520183 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In India, the minimum age of voting was reduced to 18 in which year?
Options :

1. ¥ 1988

2. % 1987

3. % 1986

4. % 1985

Question Number : 175 Question Id : 97675520183 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ 1988

2. % 1987

3. % 1986

4. % 1985

Question Number : 176 Question Id : 97675520184 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Superintendence, direction and control of elections in India is vested in
Options :

1. # National Company Law Appellate Tribunal

2. # State Public Service Commission

3. % Election Commission of India

4. # Supreme Court of India



Question Number : 176 Question Id : 97675520184 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 177 Question Id : 97675520185 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements are correct regarding elections in India?

I. Only two major parties contest elections in India.
II. Elections to the panchayats are not held.

Options :

l. % Only I

2. % Only II

3. # BothIand II
4. ¢ Neither I nor II

Question Number : 177 Question Id : 97675520185 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 178 Question Id : 97675520186 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Direct democracy is based on direct, unmediated and continuous participation of in the tasks of government.
Options :

1. # ministers

2. ¥ citizens

3. % entrepreneurs

4. # media

Question Number : 178 Question Id : 97675520186 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 179 Question Id : 97675520187 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is a type of representation in a representative democracy?

L. Territorial representation
I1. Functional representation

Options :



1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 179 Question Id : 97675520187 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 180 Question Id : 97675520188 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following cannot be considered as features of democracy?
Options :

1. # Liberty

2. % Autonomy

3. % Aristocracy

4. # Equality

Question Number : 180 Question Id : 97675520188 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 181 Question Id : 97675520189 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘Chaco War’ was fought between which of the following two countries?
Options :

1. * Argentina and Paraguay

2. # Brazil and Chile

3. % Peru and Chile

4. ¥ Bolivia and Paraguay

Question Number : 181 Question Id : 97675520189 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 182 Question Id : 97675520190 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Royal Constitution envisaged a system under a constitutional monarchy. Choose the most appropriate alternative regarding political
structure in Nepal.

Options :

1. # autocratic

2. ¥ parliamentary
3. % communist

4. % socialist

Question Number : 182 Question Id : 97675520190 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 183 Question Id : 97675520191 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘Equality before law’ is envisaged in which part of the Indian Constitution?
Options :

1. ¥ Part IIT

2. % Part]

3. % PartII

4, % Part V

Question Number : 183 Question Id : 97675520191 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.« YT III

2. % YT I

3. % YATII

4, % YTV

Question Number : 184 Question Id : 97675520192 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Part IT of the Indian Constitution consists of which of the following features?
Options :

1. # Fundamental Duties

2. # The States

3. % The Union Territories

4. ¥ Citizenship

Question Number : 184 Question Id : 97675520192 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR AL &1 yiT 1 FafiRad & 9§ o1 9 faRivang 82
Options :

1. % Od Had

2. % Y

3. % Yy &

4. ¢ RfeemRY

Question Number : 185 Question Id : 97675520193 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘Composition of Panchayats’ is included in which of the following parts of the Indian Constitution?
Options :

1. # Part X

2. % Part XI

3. % Part IX

4. % Part XII

Question Number : 185 Question Id : 97675520193 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Tl 1 AT HRAH Tfde & FHafeiad & @ feg ymr & 2 89
Options :

1. % YATX

2. % YNT X1

3. % HATIX

4, % HNT XII

Question Number : 186 Question Id : 97675520194 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘Abolition of untouchability’ is included in which of the following fundamental rights?
Options :

1. # Right to freedom

2. % Right to equality

3. * Right against exploitation

4. % Right to Constitutional Remedies

Question Number : 186 Question Id : 97675520194 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g &1 3f FAgferiaa # ¥ few difere sifier & <nfira &2
Options :

1. % W YBR

2. ¢ FHAT BT HfUBR

3. % 0T & fawg SHfUBR

4. % GifdYT-ed IUERI BT IR

Question Number : 187 Question Id : 97675520195 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Article is associated with right to education in the Indian Constitution.



Options :
1. # 21
2. % 31 A
3. %22
4. ¥ 21 A

Question Number : 187 Question Id : 97675520195 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R Afae™ H srfwse e & SiftPR T JST 7|
Options :

1. % 21

2.% 31 A

3. %22

4. ¥ 21 A

Question Number : 188 Question Id : 97675520196 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Article 76 of the Indian Constitution deals with which of the following provision?
Options :

1. # Composition of the house of people

2. ¥ Attorney-General of India

3. % Special address by the President

4. % Duration of Houses of Parliament

Question Number : 188 Question Id : 97675520196 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRTT HfaeU™ &1 3rgwe 76 afaiad & 9§ food mraum 3 Jaftrd g2
Options :

1. % TIch FHT B G



2. ¢ YRd o HeggdIa!
3. % YUfd &7 ARy Srf¥yuTyor
4. % IO & Al &I 3afy

Question Number : 189 Question Id : 97675520197 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following articles is NOT included in Part V of the Indian Constitution?
Options :

1. ® The President of India

2. ¥ Governors of States

3. # Election of Vice President

4. ® Attorney General for India

Question Number : 189 Question Id : 97675520197 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied & 9 & 91 3rfwe YR Ifau™ & YT v § =M 81 82
Options :

1. % YRd & AyUfd

2. ¢ Al & IAUT

3. % JIRIFUTA T ate

4. % YR & fo Ae=Iard!

Question Number : 190 Question Id : 97675520198 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Article 26 of the Indian Constitution deals with which of the following?
Options :

1. #® Protection of certain rights regarding freedom of speech, etc.

2. #® Freedom as to payment of taxes for promotion of any particular religion



3. # Protection of interests of minorities

4. ¥ Freedom to manage religious affairs

Question Number : 190 Question Id : 97675520198 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR A &7 3rde 26 Fafied o ¥ frad efia 82
Options :

1. % 91ep-Wa= IS fAvas $& SHUBRI b1 W&

2. % Tl faRry e &t Sifligls o forg ovl o Har & 9k o =
3. % JCUHBID- & fadl Pl TREfU

4. YTHE ST &b Yy DI WaAdl

Teaching Methodology
Group Number : 11
Group Id : 976755681
Group Maximum Duration : 0
Group Minimum Duration : 120
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 10
Is this Group for Examiner? : No
Teaching Methodology
Section Id : 9767551111
Section Number : 1
Section type : Online

Mandatory or Optional : Mandatory



Number of Questions : 10

Number of Questions to be attempted : 10

Section Marks : 10

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 9767551290
Question Shuffling Allowed : Yes

Question Number : 191 Question Id : 97675520199 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The curricular components in social sciences includes which of the following?

I. Key processes in geography

II. Interrelationships between people, environment and resources
II1. Historical interpretation skills

I'V. Values based on the constitution

Options :

1. = II, Il and IV
2.9 1 1L, 1l and IV
3. % land III

4. % [ ITand IV

Question Number : 191 Question Id : 97675520199 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR fORM & UTeuedl g # Fuferied & 9 & 4 wifire g2

L. | PIERY

II.%% 3R TreH & o9 Sfadey
111. UfdeRyes fRde sira

IV. Gy TR 31eTiRd Ied

Options :

1. % I, 11 9T IV



2.¢ L IL T AUT IV
3. % 1dUTIII
4. % [ 11 dUTIV

Question Number : 192 Question Id : 97675520200 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

“Conducting election in the school for electing student’s council.” This above statement represents which Teaching Learning strategy used in a
Social Sciences class?

Options :

1. % Concept mapping

2. % Problem solving

3. ¥ Experiential learning

4. % Story telling

Question Number : 192 Question Id : 97675520200 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gﬁ&tﬁ%&g%ﬂq%%ﬁﬁwﬁ 19 BT T SURIGKT BT GrHTIIh fAFT BT H SUART b1 i1+ drcit fovd fRrefor siferm ot
R

Options :

1. % Hpey ez

2. % O JHIYM

3. ¢ TORTIcHD HIUTH

4. % S GAAT

Question Number : 193 Question Id : 97675520201 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement is NOT correct?
Options :

1. ¥ Formative assessment is more formal.



2. ¥ Summative assessment is outcome oriented.
3. % In formative assessment, grades do not carry much weight.

4. % Summative assessment is used to determine a student’s overall performance in a certain prescribed course.

Question Number : 193 Question Id : 97675520201 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafad § O o9 1 By I8t T2 82
Options :

1. ¥ YOS 3MHa S U 5|

2. % YHATHD HTHT URUTHIEN § |

3. % YOHIHD HTHT H, IS YIS YR 98- T8l Hd ¢ |

4. % UH [T FuiRa Treasmd § 85 & T79 e[ &I FUiRd &1 & [y Gea-rdd e &1 SUanT fhdr S g |

Question Number : 194 Question Id : 97675520202 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following are the strategies to enhance the motivation level of the learners?

I. Build on strengths first

II. Offer choices

III. Facilitate creativity

IV. Provide a secure environment

Options :

1. ¥ 1 11, Il and IV
2. % Iland IV

3. % II, Il and IV
4. % JTand I

Question Number : 194 Question Id : 97675520202 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefad & ¥ o O fRrenfial & IRom &R & deM & o IuHifaar g2



1. UG diehd o1 AT AT

11. faweg grdifad &

11 TATHD AT T GITH T

IV, Ueh YRI&T aTdraror YeH Rl
Options :

1L¥ 110, L aUT IV

2. % [IAUTIV

3.% [ [ JUT IV

4, % TdYTII

Question Number : 195 Question Id : 97675520203 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Clay is a material of visual arts and crafts. What is the importance of clay?

I. It enhances creativity

II. It develops the fine motor skills

II1. It helps in handling eye-hand co-ordination

I'V. It improves concentration or builds interest in art activities

Options :

1. % II, Il and IV
2.% LI Il and IV
3. % I, IIand III

4. % I, 1l and IV

Question Number : 195 Question Id : 97675520203 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fAreY, T e iR ey &1 Ue It 3| St &1 a1 Hed 82

1. I8 THTHD Al Dl Sl o

11. I8 SRIP Al HINd [Fhad Hdt g




111, I8 3{TG-81Y & TS &I GHTAA H ASE Hall o

1V, I8 USTIdT § GYR Bl © I7 Hal Miarafert § Sy Oel Bl 8
Options :

1. % I, I YT IV

2. ¢ LI, [T AT IV

3. % [ I dUT I

4. % 1AV

Question Number : 196 Question Id : 97675520204 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following combination is correct?

I. Convergent questions — More than one appropriate answer
II. Divergent questions — Only one appropriate answer

Options :

1. % Only I

2. % Only II

3. % Both Iand Il
4. ¥ Neither I nor II

Question Number : 196 Question Id : 97675520204 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefad § ¥ o 91 9o I8t 82

L. SR Uy - T T 3Hf¥eh Iugdd IR
I1. 3OERT U - dad T SUgdd IR
Options :

1. % Bad 1
2. % BHad Il
3. % [qUTII Sl




4.« ATBIIATBII

Question Number : 197 Question Id : 97675520205 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following are the causes of delayed speech?

I. Mental Retardation
II. Hearing Impairment
I11. Behavioural Disorders

Options :

1. * Il and III
2. % Only I

3. % Only I
4, 1,11 and 111

Question Number : 197 Question Id : 97675520205 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefead & ¥ o I ydfed HTvur & HRUT 82

1. RIS HadT

1. %30T Y

111. SgagR e fawpr
Options :

1. % AT

2. % Had I

3. % $Had I

4.4 1,11 QYT I

Question Number : 198 Question Id : 97675520206 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fFafeiad # Q&1 A dfiies Haurd & Jld 3R FU g2

. TR & 3T oH BT fqHeH

11. Fgfaa, uarfa, i
111 ST 3R |

Options :

1. ® 14y I
2. % had Il
3¢ 11T
4. % Had I

Question Number : 198 Question Id : 97675520206 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following are the sources and forms of Gender Discrimination?

I. Division of labour inside the house
II. Appointment, Promotion, Placement
II1. Laws and Rules

Options :

1. # ITand III
2. % Only IT
3.9 1, Il and I1I
4. % Only IIT

Question Number : 199 Question Id : 97675520207 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If a teacher wants to use drama as a linguistic activity, then which characteristics need to be included?

I. Freedom
II. Enjoyment

Options :
1. % Only I



2. % Only IT
3. % Both I and II
4, % Neither I nor I1

Question Number : 199 Question Id : 97675520207 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe T A& ATed Bl HINTS AT & U H STHNT H1 A8l 8, d foo fa=iodraf o1 2Mfte = & gl 82

L. W=l
11 3¢S
Options :

1. % PHadl
2. % Had Il
3. 1AUT ISl
4. % 1B

Question Number : 200 Question Id : 97675520208 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFoferfad & T Uy - U & UHR BT HIF 91 G- et Tal 82

1. TiEfSlt 3{ToT Sitfad gid al 38 ol fobdl gIaT - HIeu-d Uy
11 Tfe 3y fr) §F & Ueed Bl - Il Uy

Options :

1. % FHadl

2. % HAd II

3. ¢ QYT I gl

4. % 1B

Question Number : 200 Question Id : 97675520208 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Which of the following combination of question — type of question is NOT correct?

I. What would have Gandhiji done had he lived today? — Hypothetical question
II. If you were the manager of a bank? — Provocative question

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II



